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1. Consider the following statement:- 

1) The Russian fast east stretches from the Siberian Sea to the Arctic Ocean. 

2) Both India and Russia are the members of the shangai co-operation Organization (SCO). 

3) The Kudankukam Nuclear Power Plant (KKNP) is being built in India with Russian co-operation  

Which of the statements given above is/are correct? 

a) 1 and 3 only                   b) 2 and 3 only                c) 1 and 2 only                        d) None of the above  

 

2. Which of the following countries are the members of OPEC and OPEC plus? 

a) Oman & Russia                

b) Malesiya                     

c) Azerbaijan & Behrain                    

d) Kazakhstan & malesiya                

e) All the above  

 

3. Which of the following statements is/are correct? 

1) The Drugs Controller General of India (DCGI) has given emergency use authorisation (EUA) to 

“Corbevax” for the 12- 18 age group. 

2) DCGI works under the Ministry of Health & Family Welfare. 

Select the correct answer using the code given below:  

a) 1 only                            b) 2 only                           c) Both 1 and 2                       d) Neither 1 nor 2  

 

4. Which of the following statements is/are correct? 

1) For the first time, astronomers of the National Centre of Radio Astrophysics (NCRA-TIFR) in 

Pune and the University of California in the U.S. have used the Giant Metrewave Radio Telescope 

(GMRT) to map the distribution of atomic hydrogen gas from the host galaxy of a fast radio burst 

(FRB). 

2) FRBs are extremely bright radio pulses from distant galaxies that last for only a few milliseconds. 

 Select the correct answer using the code given below:  

    a) 1 only                              b) 2 only                           c) Both 1 and 2                       d) Neither 1 nor 2 

 

 



 

Call us: 9100433442 | 9100433445                                                        www.excelacademy.com 
 

5. Which of the following pairs are correctly matched? 

1) Operation Freefly - Illegal trade of live birds. 

2) Operation Wetmark - Prohibition of sale of meat of wild animals. 

3) Operation Birbil - Curb illegal trade in wild cat and wild bird species. 

Select the correct code: 

a) 1 and 2                              b) 2 and 3                          c) 1 and 3                            d) All of the above 

 

6. Consider the following statements about ‘Canine Parvovirus’. 

1) It is highly contagious and affects all dogs. 

2) It cannot be prevented through vaccination. Select the correct statements 

a) 1 Only                         b) 2 Only                             c) Both 1 and 2                       d) Neither 1 nor 2 

 

7. Consider the following statements: 

1) Capital goods are goods that are meant for ultimate consumption, but they are durable. 

2) Consumer durables are of durable character, which is used in the production process. 

3) Intermediate goods are mostly used as raw material or inputs for production of other 

commodities. 

Which of the statements given above is/are correct? 

a) 3 only                         b) 1 and 2 only                      c) 2 and 3 only                         d) 1, 2 and 3 

 

8. Consider the following statements about depreciation: 

1) Depreciation is an annual allowance for wear and tear of capital goods. 

2) Gross investment equals to net investment minus depreciation. 

Which of the statements given above is/are correct?  

 a) 1 only                             b) 2 only                     c) Both 1 and 2                            d) Neither 1 nor 2 

 

9. Which of the following port city of Iran occupies a strategic position on the narrow Strait of Hormuz? 

a) Bandar-e Jask 

b) Chabahar 

c) Bandar-e Lengeh 

d) Bandar-e Abbas  

 

10. Nationally Determined Contributions- Transport Initiative for Asia (NDC- TIA) project that aims to 

promote a comprehensive approach to decarbonize transport engages which of the following 

countries? 
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1) India 

2) China 

3) Russia 

4) Japan 

5) Vietnam 

Select the correct answer using the code given below: 

a) 1, 3 and 4 only 

b) 1, 2 and 5 only 

c) 2, 3 and 4 only 

d) 1, 3 and 5 only  


